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Circle geometry Main Menu ’ 19 | £4CB=LEAB (angle between the tangent and the chord at the point 1 Mark: A
- — of contact is equal to the opposite angle in the alternate segment) : ’
Solution Criteria
x=2xZOPR=2x40" =80 B r
- | (angle at the centre is twice the angle at the circumference subtended 4 x
14 | by the same arc) 1 Mark: D
y=ZQPR=40
(angles in the same segment standing on the same arc are equal).
c
20 1 Mark: D
In ACBT and AACT
LCTB = ZCTA (same angle)
ZTCB= ZCAT (angle between the tangent and the chord equals the
angle in the alternate segment)
ACBT and AACT are similar (equiangular)
o = BT (corresponding sides in similar triangles)
15 1 Mark: C AT CT
x =40°+70 (alternate angles are equal, parallel lines) CT? = ATx BT
=1 100. ) . ) TA? =TBxTC (Square of the length of the tangent from an external
AADO is isosceles (A0 = OD radii of the circle) point is equal to the product of the intercepts of the
ZADO = £DAO =40 (base angles of an isosceles triangle) secant passing through this point)
ZDOC =2x £DAB (angle at the centre is twice the angle at the 6% =(x+9)xx
,, , circumference subtended by the same arc) 21 | 36=x2+9x 1 Mak: C
110° =2x(y +40°) **+9x-36=0
2y =30 (x+12)(x-3)=0
y=15 Sox=-12 0orx=3
ZRPS = ZSTR =22° (angles in the same segment standing on the Ignore x=-12 asx is alength. .". x=3

same arc are equal).
ZLUTQ=90" (tangent is perpendicular to the radius through the point

16 of contact) 1 Mark: C
ZRTQ+ ZSTU + LSTR =90°

ZRTQ+25 +22° =90°
ZRTQ =43

ZLPQS =/PRS
17 . . 1 Mark: D
(angles in the same segment standing on the same arc are equal).

2x°+2y" =180
(opposite angles in a cyclic quadrilateral are supplementary).

18 1 Mark: B
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. ) 16 A circle with centre O hasat t TU, diamet T, ZSTU=25° and ZRPS=22°.
Circle geometry Solutions Main Menu eurele with centre as a tangen tameter O an

14 P, O, R and S are points on a circle with centre 0. ZOPR = 40°,

What is the size of ZRTQ?
Why are the values of x and y? (A) 22°
(A) x=40"and y=20° B) 25°
(C) 43°
B =40" and y=40
® x and y ) 47

(C) x=80and y=20"

M) x=80"and y=40° 17 PQRSis a cyclic quadrilateral. SR is produced to T'and ZPRS = ZORT .

P
15 A, B, C and D are points on a circle with centre 0. £Z4DO =40" and ZBCO =40".

T R\_/ S
Why is ZPQOS = ZPRS ?

(A) Anéle at the circumference is equal to the angle in the alternate segment.

(B) Angle between the tangent and a chord is equal to the angle in the alternate
Why are the values of x and y? segment.

(A) x=80"and y=15 (C) Angle between the two chords in the same segment are equal,

(B) x=80"and y=30° (D) " Angles in the same segment standing on the same arc are equal.
(©) x=110" and y =15
(D) x=110" and y=30"
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18 PORS is a cyclic quadrilateral. 4 and B are points on the circle such that
LPOA=LAQR=x" and LPSB=/BSR=y".

P

Why is 2x° +2y° =1807

(A) Angles in the same segment standing on the same arc are equal.

(B) Opposite angles in a cyclic quadrilateral are supplementaty.

(C) Angle at the circumference is equal to the angle in the alternate segment
(D) Angles in the same segment standing on the same arc are supplementary.

19 A, B and C are points on a circle. The line AE is a tangent to the circle at 4 and 4B is
produced to D so that CD is parallel to AE.

E A

D

Why is LACB=/ZEAB?
(A) Angle between the tangent and the chord at the point of contact is equal to the

®
©

®

angle in the alternate segment
Angles in the same segment standing on the same arc are equal.

Angle between the tangent and the chord at the point of contact is equal to the
angle in the circumference.

Angle at the circumference is equal to the angle in the alternate segment.
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20 CT is a tangent to the circle 4BC, and AB is a secant intersecting the circle in 4 and B.
The line AB intersects CT at T.

Not to scale

[

Which of the following statements is correct?
(A) CT?=4CxBC
(B) CT?=ABxBC
(C) CT*=ACxBT
(D) CT?=ATxBT

21 Line T4 is a tangent to the circle at 4 and 7B is a secant meeting the circle at B and C.

T 6 A

Giventhat 74=6, CB=9 and TC = x , what is the value of x?
A -12

B) 2

©) 3

D) 4




